
7049 7049.5 7050 7050.5 7051
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

1.5

2

2.5

3

3.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

0.5−

0

0.5

1

1.5

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

6807

6807.5

6808

6808.5

6809

6809.5

6810

6810.5

6811

ru
n

run:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6809}



7049 7049.5 7050 7050.5 7051
cyclenum

134.5−

134−

133.5−

133−

132.5−us
l_

1X

usl_1X:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

1.5−

1−

0.5−

0

0.5

us
l_

4a
Y

usl_4aY:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

59.5

60

60.5

61

61.5

us
l_

4e
X

usl_4eX:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

18.5

19

19.5

20

20.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

41−

40.5−

40−

39.5−

39−

us
l_

12
X

usl_12X:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

6807

6807.5

6808

6808.5

6809

6809.5

6810

6810.5

6811

ru
n

run:cyclenum {run == 6809}



7049 7049.5 7050 7050.5 7051
cyclenum

134.5−

134−

133.5−

133−

132.5−

us
r_

1X

usr_1X:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

us
r_

4a
Y

usr_4aY:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

187.6

187.8

188

188.2

188.4

188.6

188.8

189

189.2

189.4

189.6

189.8

us
r_

4e
X

usr_4eX:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

13

13.5

14

14.5

15

us
r_

4e
Y

usr_4eY:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

38−

37.5−

37−

36.5−

36−

us
r_

12
X

usr_12X:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

6807

6807.5

6808

6808.5

6809

6809.5

6810

6810.5

6811

ru
n

run:cyclenum {run == 6809}



7049 7049.5 7050 7050.5 7051
cyclenum

34709

34709.5

34710

34710.5

34711

us
l_

co
il1

usl_coil1:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

6816.6

6816.8

6817

6817.2

6817.4

6817.6

6817.8

6818

6818.2

6818.4

6818.6

6818.8

us
l_

co
il3

usl_coil3:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

3620.5

3621

3621.5

3622

3622.5

us
l_

co
il4

usl_coil4:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

1127−

1126.5−

1126−

1125.5−

1125−

us
l_

co
il6

usl_coil6:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

16095.5

16096

16096.5

16097

16097.5

us
l_

co
il7

usl_coil7:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

6807

6807.5

6808

6808.5

6809

6809.5

6810

6810.5

6811

ru
n

run:cyclenum {run == 6809}



7049 7049.5 7050 7050.5 7051
cyclenum

31027.5−

31027−

31026.5−

31026−

31025.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

5939.5−

5939−

5938.5−

5938−

5937.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

3505

3505.5

3506

3506.5

3507

us
r_

co
il4

usr_coil4:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

725.5−

725−

724.5−

724−

723.5−

us
r_

co
il6

usr_coil6:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

18784

18784.2

18784.4

18784.6

18784.8

18785

18785.2

18785.4

18785.6

18785.8

18786

18786.2

us
r_

co
il7

usr_coil7:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

6807

6807.5

6808

6808.5

6809

6809.5

6810

6810.5

6811

ru
n

run:cyclenum {run == 6809}



7049 7049.5 7050 7050.5 7051
cyclenum

419.8−

419.6−

419.4−

419.2−

419−

418.8−

418.6−

418.4−

418.2−

418−

417.8−

417.6−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

70−

69.5−

69−

68.5−

68−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

27.5

28

28.5

29

29.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

508−

507.5−

507−

506.5−

506−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

98.5−

98−

97.5−

97−

96.5−4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

30.5

31

31.5

32

32.5

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6809}



7049 7049.5 7050 7050.5 7051
cyclenum

173.6

173.8

174

174.2

174.4

174.6

174.8

175

175.2

175.4

175.6

175.8

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

35.6

35.8

36

36.2

36.4

36.6

36.8

37

37.2

37.4

37.6

37.8

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

15.4−

15.2−

15−

14.8−

14.6−

14.4−

14.2−

14−

13.8−

13.6−

13.4−

13.2−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

182.6

182.8

183

183.2

183.4

183.6

183.8

184

184.2

184.4

184.6

184.8

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

28−

27.5−

27−

26.5−

26−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

13.5−

13−

12.5−

12−

11.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6809}



7049 7049.5 7050 7050.5 7051
cyclenum

235.4−

235.2−

235−

234.8−

234.6−

234.4−

234.2−

234−

233.8−

233.6−

233.4−

233.2−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

85.8−

85.6−

85.4−

85.2−

85−

84.8−

84.6−

84.4−

84.2−

84−

83.8−

83.6−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

2.5

3

3.5

4

4.5

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

7.5

8

8.5

9

9.5

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

457−

456.5−

456−

455.5−

455−12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6809}

7049 7049.5 7050 7050.5 7051
cyclenum

6807

6807.5

6808

6808.5

6809

6809.5

6810

6810.5

6811

ru
n

run:cyclenum {run == 6809}
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